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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to '
each guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each guestion with Marker or pen ink on the answer shekt provided.

1.1. A reverse reaction is one: :‘auuigidjwﬂgj 1
(A) Which proceeds from left to right e tsrElibs beuf L2
(B) In which reactants react to form products u_té'.(zu'b"/:‘géfaf 15y ‘/&ﬁgfd/uf J
(C) Which slows down gradually < ts>2TEi2
(D) Which speeds up gradually <tz Gz

2. What is the pOH of o.ozlﬁ;(OH)z? e pOHU0.02ML Ca(OH), 2
(A) 1.698 (B) 1.397 (C) 12.31 (D) 12.61

3. Coal gas is a mixture of: 14./._.’{/"6! 3
(A) CO and CH, ¥CO.sICH, (B) CO,CH,and CO, §COusICH.CO,
(C) CO,CH,and H, §COsCH.H, (D) COH,and CO,  §CO.sH,CO,

4. Which scientist prepared urea in laboratory? | WO S F LA 4
(A) Wholer /s (B) Rutherford 3/ (©) Berzelius %Sz (D) Dalton i3

5. The reduction of Alky! halides takes place in the presence-of; ?§.(Zlnuﬁ &zr&/ ﬂz&i’i&fdflﬁl 5
(A) Zn/HCI (B) Na/HCI (C) Mg/HCl (D) Cu/HCI

6. Which one of the following is a fat soluble vitamin? ?4".(_%)’%50)/ blde LS s 6
(A) A (B) E (C) K (D) all these

7. About 99% atmosphere mass lies within: ?‘at‘mﬁrui"jfyégg‘g }”‘KJL..C?/f 7
(A) 4530 Kilometre  (B) 4 35 Kilometre (©) #¥£15Kilometre (D) 4 11 Kilometre

8. Which of the followings is not a green house effect? ?c“_u-?i‘aga”dﬁ,c[/f Ufc,gﬂd: By

(A) Increasing atmospheric temperature Jului'[_-/,_,;J /3}-/1
(B) Increasing food chain  Jli ~ 7'..’,5}

(C) Increasing flood risks Sl el BL ik

(D) Increasing sea level qufff&,cf

C A

9. Specific heat capacity of water is: “ 5 -’_bmf,v‘.ﬁ/ dg 9
(A) 4.2 g 'K (B) 4.2 KJgK (C) 2.4 KJg 'K (D) 2.4 Jg'K"

10. Global warming is because of: :g,.,»gf.ﬁﬂ;gf-;{ 10
(A) CO (B) O, (C) CO, (D) Os

11.  An Acute infection caused by the bacteria "Vibrious Cholerae" is: ic"_.d/k’;d‘}i—ﬁ‘&c_—gﬁd/ U, 2L 11
(A) Dysentery &-’" (B) Cholera .1 (C) Hook worm (u..{ (D) Typhoid it

12. Crude oil is heated in the furnace upto: E?-V%WJFJZ'/;J&UJ}IJ/H}/ A2
(A) 300°C {B) 350°C . {C) 400°C (B) 450°C
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2. Write short answers of any five part from the following. 2x5=10
i. What is vital force theory? ii. Write four characteristics of monosaccharides.
iii. Give sources and uses of animal fats. iv. Define Alicyclic compounds and give an example.
v. Explain different radicals of n-butane. vi. Define Reversible Reactions and give its two properties.
vii. Define Amines.Write the formula of Methyi Amines.
viii. Derive equilibrium constant expression for the synthesis of Ammonia from Nitrogen and Hydrogen.
3- Write short answers of any five part from the following.
i. Write the reduction reaction of Alkyl Halides. ii. Write two uses of petroleum ether.
iii. Justify that Alkane give substitution reactions. iv. Write the names and formulae of two mineral acids.

v. Write two uses of petroleum.
vii. What do you know about the carbonation of ammonical brine?
viii. Define the refining. Write the principle of fractional distillation.
4- Write short answers of any five part from the following.
i. Write two effects of Ozone depletion. ii. Define Acid rain.
iii. Write two effects of Global Warming. iv. What is meant by Cryptosporidium?
v. What are the causes of hardness in water? vi. Why are non-polar compounds insoluble in water?
vii. What is capillary action?
viii. What is the height range and temperature range of stratosphere?

2x5=10

2x5=10

, Section -II 9x2=18

Note: Answer any two questions from the following.
5.(a) What are vitamins?Write the importance of vitamins. 2+3=5
{b) Derive the expression for equilibrium constant for give general reaction.A+pB ——= cC+¢D 1x4=4
6.(a) What is Autoionization of water?How is it used to establish the pH of water? 2+3=5
(b) Why water has polar structure and dissolve polar substances? 2+2=4
7.(a) Write a note on fractional distillation of Petroleum. 1+4=5
2+2=4

(b) Prepare the Alkenes by dehydration of alcohols.
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vi. Write the reaction of acids with sulphates and bisulphates.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.
1.1. A reverse reaction is one: Ig_v:ui{ld/u'zz’/ A
(A) Which proceeds from left to right Ltfdl:..vlau’ e Li
(B) In which reactants react to form products u*z_.bufufzif._f fu/u/f St
{C) Which slows down gradually Labf/sz,ur.:?
(D) Which speeds up gradually g_t';f';'fy”/j&ﬁ

2. Which one of the following species is not amphoteric? ?g;uf;(ﬁ‘ﬁ{fvufc:,ufd_’ Sonr 2
(A) H,O (B) NHs () HCO; () SO;*

3. Coal having 90% carbon contents is called: L.b'M u‘:irliiéu/&w’%uﬁ‘f L3
(A) Peat < {B) Lignit .aflf (C) Anthracite b1 /’%3 (D) Bituminous u/ =&

4. Formulae of acetaldehyde is: e UG A Sk 4

O O

(A) CH;—CH,OH (B) CH3—|C| OH (© CHa—lC' H ® H—ICI—-H

5. Which one of these is saturated hydrocarbon? \CROI AW 4 b fut 5
(A) CoH, (B) C;Hs (C) CsHyz (D) C4He

6. Which one of the following vitamins is water soluble? :‘LFangrd&gu” Bl A Sk 6
(A) Vitamin A /'t (B) Vitamin E /s (C) Vitamin D /'ts (D) Vitamin C  /ts

7. Which gas protects the Earth's surface from ?‘L(}{L'}B;L ﬁldéz..‘/"’blﬂlf ffJuﬁ)u’fduf 7

ultraviolet radiations?

(A) CO, (B) CO (C) N, (D) O;

8. Which one of the followings is not a Greenhouse effect? Sk,uﬁ@@-uﬁ M/ l/ufc_ufJ“;'.,»,cx .8

(A) Increasing atmospheric temperature  3LI % Z-;f./ /j// !
(B) Increasing food chain Ui 42
(C) Increasing flood risks  SLigtal BL 1k
(D) Increasing sea level 3oz 6&/
9. Acid rain effects the aquatic life by clogging fish gills ?4‘;.‘3/%‘/;1)@7&/11[%5;)::"5& Uz Ao 42 9

because of:

(A) Lead 4 (B) Chromium (2. (C) Mercury /7 (D) Aluminium £
10. Which disease causes bone and tooth damage? ?C‘..d/L’EJL’)},:?!J.L—}fg!]‘LU?'}J}’uz% 10

(A) Fluorosis 5.8 (B) Hepatitis  /*bly (C) Cholera .=z (D) Jaundice by
11. Temporary hardness is because of: ) ‘@.&:’icﬂ?}‘/( u':.;/&d_{/;; 1

(A) MgCO;, (B) Ca(HCO3), (C) CaCO4 (D) MgSO, |
12. Formula of Urea is: e Uy bElay 12 }

(A) NH,COONH, (B) NH,COONH, (C) NH,CONH, (D) NH,CONH, '
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Section-I
2- Write short answers of any five part from the following. 2x5=10
: i. How is dynamic equilibrium established? it.” What is meant by genetic code of life?
ii. Name two fatty acids with their formulae. iv. Write'down the formula of ethyl acetate.
v. Define homologous series. vi. Write'the'structural formulae of (a)Benzene(b)Pyridine
vii. Write down the dot and cross formulae of propane and n-butane.
viii. Derive equilibrium constant expression for the synthesis of ammonia.from nitrogen and hydrogen.
3. Write short answers of any five part from the following. 2x5=10
i. Why H ion act as a Lewis acid? ‘ ii. Why are alkenes called olefins?
iii. Define double salt and give an example. iv. How is margarine prepared?
v. Describe two uses of Petroleum Ether. vi. What is the principle of fractional distillation?
vii. How is ammonia prepared for the synthesis of urea? )
viii. What happens when ammonium carbamate is heated with steam? 1
4- Write short answers of any five part from the following. 2x%5=10 x
i. How is aquatic life affected by acid rain? ii. How is the temperature of atmosphere maintained? .
ii. Complete the given equation.HOCl@q) — iv. Justify CO is hidden enemy of human beings.
v. What is hepatitis? vi. How decaying plants consume oxygen?
vii. What is meant by an air pollutant?Give an example.
viii. Justify your answer with chemical equation how sodium zeolite remove permanent hardness. |
o Section -II 9x2=18
te Note: Answer any two questions from the following.
= 5. (a) What are building blocks of protein?Describe the resources and uses of protein. 1+2+2=05
{b) Write any four macroscopic characteristics of dynamic equilibrium. 1x4=04
6. (a)Define salts.Explain four methods with examples how soluble saits are prepared? 1+4=05
2+2=04

(b)Explain two methods of removing permanent hardness.
7. (a)Describe the smelting process with the help of diagram. < 05

o “ (b) Write the four physical properties of Alkenes.
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